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The domain of:
(-3, 5), (2,0), (0, 7), (1, 1)




The range of
(-2,5),(0,4),(1,7), (2, 8)




Is the relation:
(2,4),(1,5), (0,6), (-1, 7)

a function?




Is the relation:
(2,95),(1,0), (5, -2), (2, 0)

a function?




Is the relation:
(-2, 5),(3,5), (0, 2), (1, 2)

a function?




100
The slope of the graph:

What is -5/27?




The slope of a horizontal line.




The slope of a vertical line.




The slope of the line
containing the points: (35, 8)
and (3, 6)




The slope of the line
containing the points (-3, 7)
and (3, -5)




The equation, y =2l.xr + 3|, is
an ...




An absolute value function has a

shaped graph.




The corner point of an
absolute value function
graph is called the




The graph of the function: »

=—|x+3

opens ...




The vertex of the graph the
of function: y=|xr+2| + 3.




The y-intercept of:
y=2Xx-6




The slope of:
y=3x+1




The slope-intercept form of:

2X+3y =9




The x and y intercept of:
2X + 5y =15




The slope of the line:
3X +4y =16




100

The equation of the line:

What is y = 2x - 57 [NEEaEE




The equation of the line with
slope =2 and y-intercept = 3




The equation of the line with
slope = 3 and point (-2, 5)



The equation of the line with
points (2, 1) and (3, 5)?




The equation of the line with

x-intercept = -2 and

y-intercept = -3.




Graphing



Draw the graph of the function:
5x -2y =10
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